Efficiency vs Dxy(PV)
SO R R |1 TR R R

é F . .
N e

Ratio
w
o

20 = ‘ 10 15 20

TP dxy(PV) (cm)
T_I00UEVT

—— D
—e— D iginal_1000evt -
—— D ted4_T000evt
—— D _cpeOK_1000evt

— —— DOMfit_cpeOK_SORTRZ2_1000evt

[(Efficiend —— DOMfit_cheOK-SORTRZ2_TESTOUTLIER 1000evt

< 1.2

>

g

<

o

[

>

>

O 08H--]--q-=premieaaaas

c

o

L

=

[}

Ratio

02 04 06 08
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7kt
0.6

T[T T T TTTTITTT

0.5

efficiency vs dz(PV)

it

Ratio

il

-30 -20 -10 O 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

0.5p— -
a :
50.45E 4+ -

efficiency vs d.
o

© w 2

[SS IS I

Ratio

N
—

2T =05 0 05 1
TP dz(PV) (cm)



	Contents
	Page 1


